Berechnung der Wohn wund Nutzflaches

Erdgeschof3
Kiiche s 3,635 x 4,51 = 16,39 x 0,97
+ 1,26 o 1,88B/2 = 0,78
HIWER ¢ 3,635 x 4,01 = 311,58 x 0,97
- 3,00 X 4,00
Essan 4,01 » 4,26 = 17,08
e 2,21 X o R,elj2 = 2,44
- 0,75 = 0,40 = Q,30 % 0,97
Wohnen: 4,51 X 6,138 = 27,67
+ 1,56 X 2,80 = 4,37
+ 3,44 ® 1,56 = B, 37 X 0.97
WE g 2,26 X 1,63 = 3,70 ® 0,87
Garde— 2,138 ¥ 1,638 = 3,49 » 0,97
robe:
Disla: 4,01 ¥ #4,26 = 17.08
+ 1,25 ¥ 1,25/2 = 0,78

+ 2,15 + 1,60 x0,50= 0,94

o = 3,20
~3,20 x 1,00{Treppe)__

15,60 w 0,97

Wohnfliche ErdgeschoB: 100,19 m2

Recke im Marz 96

Der Flanverfasser
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Fortsetzung

Dachgeschal
Eltern: 3,695 x 4,18 = 15,45

- 3,885 w 1L,00/2 = 1,85
Ban: 3,01 x 3,685 = 11,12

4+ 1,80 9w G,507/2 = 0,25

- 0,850 x 0,50/2 = 0,125

- 3,695 x 1,00/2 = 1,858 /
Gast: 4,01 ® 2.275 = 9,12

~- 0,66 x D,66/2 = 0,22

+ 2,00 % 1,00/2 = 1,040

+ 0,40 ® 2,50 = 1,00

- 1,51 x 1,00 0,76 f
Kind T: 4,67 » 3,595 = 16,43

- 4,57 x 1,00f2 = 2,29 /

Kind IT1: 4,57 % 3,88B = 16,43

— 4,57 % 1,00/2 = 2,29 /
Galetrie: 3,965 w 1,90 ES 7,51

- 0,60 % 0,60/2 = 0,18

- 0,75 w 0,40 = 0,30

+ (2,25 + 2,50) x 1,28

2

+ 0,40 ® 3,00 w 1,20

+ 0,60 x 0,60/2 = 0,18 /
Wohnflache DachgeschoB: 71,23 m2
Erdgeschai: 100,18 m2
Dachgaeschol: 71,23 m2
GESAMTE NDHNFLﬁCHE: 171,42 m

Recke im Marz 96

Der Planverfasser

g,40 x Q.897=

10,34 w §,897=

14,14 x 0,87=

14,14 x 0,87=

3,58

12,00 % 0,8=

13.19 mz

9,1tz mZ

9,84 me

13,72 m2

18,72 mZ

11,64 m2




